oi |
%  MAL Series Cylinder




MAL [& 7 & 4

MAL Aluminum Alloy Mini Cylinder

ALHTR Stros)

A+THR{ Stroxe)
5 O Stroka) D
E F| G G |S
H . @P
AT
L] _j ; | J-’ 1
7 .1 ‘—I—l \(4:.{{ " —"i
N AL X
[ ,
1 !
| | am
N . N
AZHTE Stroke)
D1 ol
| | I
2 = EI

K

M6*1.0

M8*1.25

M10*1.25

M10*1.25

L

M12*1.25

M16*1.5

M22*1.5

M22*1.5

M24*2.0

M30*2.0




MAL m¢44 FA
MAL Accessory: FA Flange

—_ Ly
_ BB
F16~325 7132~740
BC
= BL
& D -

or

BE
BF
BE

Aé
A
2 4

2-2ZRF A-@BP /




MAL F¢ 4 LB

MAL Accessory: LB Foot Mounts

-
.

¥

ACHTR

~AH

AAHTEE




MAL ¢4+ SDB

MAL Accessory: SDB Rear Turnnion Bracket

D
sl i N
“ - s
4-@CP .
--l |.- L1l £ a8 il LIl e 1
e | |1
CF "




MAL m# 1&Y #:5R

MAL Accessory: Rod | End & Rod Fork End

W5

[ReiSE Y &8
LS / .
K-\ "1 —EmaE = l,.l'l e ;_.-"r
":" I .‘I o 4
&.—X 4 Bt e o W ae e
\ f‘_ e
- N -':I - NE
NE
“WH
F T T
ol . =
(TIT d—¥ % =
S - o % o
. i i -
I"\:E
~E
- Fllﬁl —
FR
= n ‘

Dia NA NC ND NE NH NM NP PA PB
16 12 5 21 28 M6*1.0 6 8.5 17 12.5
20 16 8 32 43 M8*1.25 8 16 22 16.5
25 20 10 40 48.5 M10*1.25 104 21 26.5 20.5
32 20 10 40 48.5 M10*1.25 104 21 26.5 20.5
40 24 12 48 60 M12*1.25 12.2 24 30 24.5




